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SF.=

—F + N, =Ny =0 o (1)
ZFy:

—F,+uN, + N, P =0————————————— )
D> My=0

—N2><C—,uN2><d+P><%+ Fxa+F,xe=0--(3)

(1)__>N3:N2_Fx
(2)——>-F,+ N, + u(N,-F)-P=0
2)-—>-F, + N, + uN, — yF, =P =0
2)-—->2uN, =/, +F +P-————- - —————— (4)
1 1 1 1
4)-—->N,=— (W +F +P)=—F, +—F +—P—--(5
( ) 2 2ﬂ(ﬂ X y ) 2 X 2,U y 2/1 ( )
1 1 1 1 1 1 d
B)-—>-GRh+—F+—P)xc—u(-F+—F +—P)xd+Px—+F xa+F xe=0
2 2u 2u 2 2u 2u 2

(3)- > —cF,~ L cF, - cP-£dF, - LaF, - Lo+ LdP+aF, +eF, =0
27 op Y 2u 2 2 2 2

(3)- > —cF,~ L cF,~ 1 cP-“dF, - LdF, +aF, +eF, =0
2 2u 2u 2 2

(3)— —>cF, +iCFY +%CP +wudF, +dF, —2aF, —2eF =0

(3)—- — (c+ d —2a)F, +(lc+d -2e)F, +lcP =0
H U

1
P =%[(2a—c—,ud)FX +(2e—;c—d)Fy]
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g(m/sec’) 1(m) dm)  |v(m/sec)| V(km/hr) S(m) t(sec) a(m/sec’)
8.3 30 6.5 1.56
6.9 25 4.5 1.30
0.6 5.6 20 29 1.04 53
4.2 15 1.6 0.78
2.8 10 0.7 0.52
8.3 30 5.6 1.34
6.9 25 39 1.11
1.1 0.7 5.6 20 2.5 0.89 6.2
4.2 15 1.4 0.67
2.8 10 0.6 0.45
8.3 30 49 1.17
6.9 25 34 0.97
0.8 5.6 20 2.2 0.78 7.1
4.2 15 1.2 0.58
03 2.8 10 0.5 0.39
8.3 30 7.1 1.70
6.9 25 49 1.42
0.6 5.6 20 3.1 1.13 49
4.2 15 1.8 0.85
2.8 10 0.8 0.57
8.3 30 6.1 1.46
6.9 25 4.2 1.21
1.2 0.7 5.6 20 2.1 0.97 5.7
4.2 15 L5 0.73
2.8 10 0.7 0.49
8.3 30 53 1.28
6.9 25 3.7 1.06
0.8 5.6 20 24 0.85 6.5
4.2 15 1.3 0.64
2.8 10 0.6 0.43
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